>t A EES CREEE
( 2022#128 )
% - SRESAH - EARKE 2 —
X5 RFS 20224124 - 20225 -
REt AEH (RE/AH)
iz FIEIZBE Y 8% 118 908 100
55 ICEd S 45 406 45
SERIGIICET 5% 76 659 73
EFNEIZREY S 61 446 49
BEERICET 5% 5 29 3
BEME IR M 2 17 1
Z D DHEE 105 1024 113
) 412 3489 387
=18 EEEICET HEE 53 413 45
SERIGICET 52EF 45 249 27
EHNEICET HEE 22 121 13
BEERICET 2EE 0 4 0
REMEICET HERE 1 4 0
ZOMDOEE 13 97 10
G ED 134 888 98
HotA BB S 8 92 10
FEEIGIICET 5% 3 19 2
EHENEICET 5% 0 1 0
BREEAICET 5% 0 0 0
REMEICET Hine 0 0 0
ZDth0HE 0 0 0
G ED 11 112 12
& &t 557 4489 498
(B%F WMEEORKRR)
=4 . i 202145 & i
Ri AT (REH/12)
LEE HIEEIZRE9 B4R 1304 108
ENEEICREI HAR 283 23
SEWGIICET 4% 655 54
EFENIE(ICRAT HHEE 638 53
BEERICET 2% 16 1
BREMEICET 4% 21 2
Z DD 1225 102
(D 4148 345
=g ENEEICET HEE 313 26
FEWGICET HEE 319 26
EHENEICET AEE 191 15
BEERICET 2EE 4 0
BREMEICET HERE 11 0
ZDDEE 90
(D 928 77
HoEA EFICET HnE 95 7
SEWNGICET 29% 19 1
EHENEICET 5% 1 0
BEERICET 29% 0 0
BREMEICET 2% 2 0
ZDthDHE 0 0
G\ )) 17 9
& i 5193 432

GE) 1 et B8,
2.EZHITK Y, K-

ZRHEHRTHD,

EE - HOBADETNENICERLTHELTWREELH D,




S>HAE

=1

(2022512 A O & R AL AR )

== =

% - ERMAESRHOTARBE 2 —
= | e | mm | B | 2R zom|_, | B0 | B S0 | A= .
X5 mE #t | % | S | E% | xm | o0 |ZUR|SvT| BME | #&E | sT0 | BE | BE (tofs| &
FTYN[TFYN Ewam [ TN 5% [7Fun
LEES HIEEICAEd 24 24 9 6 0 7 0 0 0 0 0 0 0 0 72 118
ENEFICRIT D45 7 22 12 0 0 2 0 0 0 0 0 0 0 2 45
FTEWGII<ET 48 26 8 26 1 5 1 0 2 1 0 0 0 1 76
EHNEICEET K 23 5 11 0 3 0 0 1 0 0 0 0 0 18 61
BEERICET 2488 0 0 0 0 0 0 0 5 0 0 0 0 0 0 5
BEMEICET 248 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2
Z DDA 6 1 5 0 0 0 0 1 0 0 0 0 0 92 105
(O 2) 86 45 60 1 15 3 0 9 1 0 0 0 1 191 412
5 ENEEICEET B EE 5 4 4 1 0 1 0 0 0 0 0 0 1 0 53
FEWGIICEY 2EE 22 7 8 0 3 3 0 0 2 0 0 0 0 0 45
EHRLEICET HEE 9 3 5 0 1 0 0 1 0 0 0 0 0 3 22
REBRICEHT 3EE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BREMEICHT B 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
ZDHDEE 5 2 3 0 0 1 0 0 0 0 0 0 0 2 13
(G D) 4 53 20 1 4 5 0 1 2 0 0 0 1 6 134
Hoth |BFICETIHNE 0 7 0 0 0 0 0 0 0 0 0 0 1 0 8
FEWGIICET 5% 0 0 0 0 2 1 0 0 0 0 0 0 0 0 3
EHNEICET HE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BEERICET 5% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BREMEICHT D% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
D DHE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(G 2) 0 7 0 0 2 1 0 0 0 0 0 0 1 0 1
& & 127 105 80 2 21 9 0 10 3 0 0 0 3 197 557
(BE 2022FFE (20224048018 ~20224128318) &)
N IR Zoi B8 | BS ST0 | % ]
X5 A& #RX | EF Ex jﬁ#‘ jﬁ% CFD |7 v 7| BE _ﬁﬁi‘ STO BE _Eﬁé oM
FYN|FYN GEEN IR 5E |TUN
HEEk FIEICRIT 48 177 88 89 3 90 5 0 6 29 0 0 0 0 421 908
EEIMEERY 47 230 97 1 1 5 2 7 1 0 0 0 3 12 406
FEWGIICRET 458 258 116 166 5 55 8 1 9 4 2 0 0 4 31 659
BHENIE(CBE Y B 165 39 68 1 17 1 0 3 2 0 0 0 2 148 446
BEERICEY 5485 0 0 4 0 0 0 0 23 0 0 0 0 0 2 29
BEMEICET 545 6 0 0 0 0 0 0 0 0 0 0 0 0 1 17
Z DDA 85 15 19 0 53 1 0 2 0 0 0 0 5 844 1024
(G 2) 738 488 443 10 216 20 3 50 36 2 0 0 14| 1469] 3489
EiE EFICRET 5EE 47 270 63 4 4 6 3 6 5 0 0 0 4 1 413
EEWEIICET 5 107 28 48 8 38 7 1 1 3 0 0 0 4 4 249
EHNEICET HEE 55 10 16 2 10 0 0 3 0 0 0 0 1 24 121
BEERAICET 3G 0 0 1 0 0 0 0 3 0 0 0 0 0 0 4
BEMEICET HEE 1 0 0 0 0 0 0 0 0 0 0 0 0 3 4
D DEE 34 15 17 1 5 1 0 0 1 0 0 0 0 23 97
(D) 244 323 145 15 57 14 4 13 9 0 0 0 9 55 888
Hhoth |BFICETIHNSE 1 63 10 0 2 2 1 1 1 0 0 0 1 0 92
FEWGIICET 2% 5 1 6 0 4 2 0 0 0 0 0 0 1 0 19
EHNEICET 9% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1
BEERICET 2% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BREBEICET 9% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ZDHDHE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(G D) 16 64 17 0 6 4 1 1 1 0 0 0 2 0 112
& i 998 875 605 25 279 38 8 64 46 2 0 0 25 1524 4489
GE) 1. stEHSUT, 2fHEHTHD.
2LEHIZKY. B -EBE - HoBADTRATNIZEELTHLELTWRIEELNH S,




>HBA

1
Cl

49

(2022512 A @ BRI IRKR)
P - ERESH - BAMEBE 2 —

X4 NE 2 = EA Hi
K HIREIZBA S S48 62 49 7 118
ENEEICEAT HHEE 19 26 0 45
SEEEGICREY 518 47 23 6 76
EHENEICET 518 39 19 3 61
REERICET 2485 2 2 1 5
RERE BT 485 1 1 0 2
Z DMK 56 41 8 105
(h ED 226 161 25 412
& ENEEICEAT A EE 20 27 6 53
SEEWGICETAEE 29 16 0 45
EHENEICET 5EE 15 7 0 22
REERICET AEE 0 0 0 0
REMEICEHT HEIE 1 0 0 1
DO EE 8 5 0 13
(h FD 73 55 6 134
HothA ENEEICET 1% 2 6 0 8
SEEWGICET 5% 2 1 0 3
EHENEICET 50% 0 0 0 0
REERICET 2H% 0 0 0 0
REMECET 5% 0 0 0 0
DO RS 0 0 0 0
(h FD 4 7 0 11
& &t 303 223 31 557
(BE 2022FE (2022F048~2022%128) #£&hH
X5 NE 5 = EA 5
R HIE(CBT S 552 317 39 908
ENEFICBT S48 194 198 14 406
SEEEG|ICET S 398 239 22 659
EHENECET 5 260 178 8 446
REERICET 2485 15 13 1 29
REBNEICRIT S4E: 8 7 2 17
Z Dt DFEH 595 381 48 1024
(/A9 2022 1333 134 3489
=& ENEEICEAT 5 EE 182 203 28 413
SEEmWG|ICET 5EE 165 80 4 249
EHRNEBICET SEE 85 36 0 121
REERICET 5EE 0 0 4
REMEICETEHEE 0 0 4
ZDhOEE 67 30 0 97
(/A9 507 349 32 888
HotA #FEICET 5% 39 47 6 92
FEWGICET 5% 9 8 2 19
BHRNEICET 5% 0 1 0 1
BEEAICET 5% 0 0 0 0
REMEICET 5% 0 0 0 0
ZDhD e 0 0 0 0
(v & 48 56 8 112
& &t 2577 1738 174 4489

GE) 1Lt EH#T. ZRERTHS.
EE - HOoTADTNENITER L THELTWREENH D,

2.EMHITKY, k-




